> restart;

f := r->arctan(r);
X := r¥*cos(theta);
y := r*sin(theta);
z 1= f(r);

plot3d([x, y, z], r = 0 .. 2*%Pi, theta = 0 .. 2*Pi);
f:= r - arctan(r)

X:= r cos(e)
Yy = r sin(e)

Z:= arctan(r)

> restart;
V := int(Pi*tan(y)A2, y = 0 .. arctan(2%Pi));
W := int(2*Pi*(arctan(2*Pi)-arctan(x))*x, x = 0 .. 2%P1);

Vi=2 Tr2 - 1T arctan(2 )

Wi=2me - T arctan(2 )

> restart;
f := r->arctan(sqrt(r));

X := r¥*cos(theta);
y := r*sin(theta);
z := f(r);

plot3d([x, y, z], r = 0 .. 2*Pi, theta = 0 .. 2%Pi);
fi= r=—>arctan(x/;)
X:= r cos(0)
Yy := r sin(e)

Z:= arctan(«/;)




> restart;
V:=int(Pi*tan(y)A4, y = 0 .. arctan(sqrt(2*P1))); _
W:=int(2*Pi*(arctan(sqrt(2*Pi))-arctan(sqrt(x)))*x, x = 0 .. 2%Pi);

V= é; TT(S/z) «/_- - 4/25 TT(3/2) + 1T arctall(«/zg «/;;)
W:= % Tr(5/2) «/— - «/E 17(3/2) + Trarctan(ﬁ \/;)

> restart;
simplify(arctan(sin(x)));
plot(7+arctan(sin(x)), x = 0 .. 2%Pi);
arctan(sin(x))
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> restart;

f := r->arctan(sin(r));
X := r¥*cos(theta);

y := r*sin(theta);

z := f(r);

plot3d([x, y, z], r = 0 .. 3%Pi, theta = 0 .. 2*Pi);
f:= r - arctan(sin(r))

X:= r cos(0)
Yy := r sin(o)

Z = arctan(sin(r))




> restart;
V = int(2*Pi*(7+arctan(sin(x)))*x, x = 0 .. 3*P1i);

eval f(V);
Digits := 40;
eval f(V);

31T

V= J 2 11 (7 + arctan(sin(x))) x dx
0
2003.451549
Digits:= 40
2003.451548630204032456434285911341659534




